%\!m ep T efoH

000 000 000 (24 + 14 = J) ouejwedURYY 'y

oav¥oyYd oaQvaoddy

/oavanvosy OEVEICARRS /OTYRILSE OLAZONOD

11°920'¥99'82 £9'¥Z9'0Z1 LT 000 {3 + Il = Al) OpRWg 8ouURjRg "Al
000 000 000 opejenbp3 0jseo UOD BPNAQ B| BP S0ISED A SBUOIS|UIOY ‘sesalel| ‘2]
000 00'0 00'0 opejenby3 oN ojse uod epnag e 3p sojsen A seuoisiwoy ‘sesessjul 13
000 000 000 (z3+13 = 3) epnaq e| ap sojses A sauo|sjwoy ‘sesaleq] '3

0avdv¥d OQVONZAZA oaveoddy OLJIONOD
11°920'799'82 £9'v28°024'L2 000 (2~ 11 =i1) Jouejuy o}3}218[3 |op sejuauewLay u|s A OJeN OjusjUBIOURULY U|S olEjsendnsald eoueleg ||
11°920'p99°'82 £9'vze'oz' LT 00°0 (£V - 1 = 11) 038N Ojusjweldueul ujs oueysandnsalg souejeg ‘||
11°920'v99'8Z £9'vZ9'0Z1 LT 000 (D + 8-V =) oueisendnsesd asuejeg °|
00°0 00'0 00'0 opopad |@ us sopeajde sepejenby3 sejeiepey Se|OUSISSURLY BP BBJUBLIBWOY ‘T
00°0 00°0 000 opoped |8 ue sopeojde ugioisods|g e4qiT ep sosaibuj ep sejusuBLIGY ‘LD
000 000 000 (22 + 10 = 0 ) Jousjuy oj912.0(3 jop sajusuBLLLY D
Po'6LL'YZL'CY 08'ZIL'EBL'SY 00°2ZZ'129'941 (e21190d epnaq e| ap UQEZIICWY JNjOU] ujs) opejenbp3 oses ‘g
51°198'988'99 L8°618'026'99 00°L£9°L16'9CL (e21190d epneq e| 8p ug|dezpuowWY J|njau| ujs) opejanbpg oN ojses ‘g
69'080°119°001 LV'TES'PIL'T0L 00°£98'8EP'CS2 (zg+18 = g) |souesendnsesy sosesby ‘g
000 000 000 OleN ojusjwiedURUlY "EY
$0°992'208'29 90'952'208'29 69°L0Z'SEP'CLL sepejenbpg se|eiepagy sejouBIeSUR] TV
9L108'TLY L 9L L0B'TLY'OL LE'SY9'C00'0vL ugojsods|q 81q|7 ap sosasbu| Ly
08'990'922°621 08'950'9L2°6Z1 00°£98'8SH'ESZ (EV+ZV+IY = V) sejej0) soseabu| 'y

oavovd oaveaoddy

Joavanvosy OQVENAARd / gl OLAZONOD

0Z0Z 50 OINAr =A 0€ TV O¥ENE &I I
407 - OI¥VLISENdNSHEdd HONVIVH
820 ‘NYILILODOL

( sosad )

T1a3a




nmmwmmwu. € 8p ¢ eloH
00'0 / 000 000 opopad |9 uo sopeojde sepejenbp3 sejeiepad Se|ouLlajsuBL) Op SAJUGUBWEY ‘2D
FI6LL'YIL'EY 08'ZLL'EBL'SY 00°ZZZ'129'9L} (221904 epReq e| 8p ugdEZIOWY J1Njou] Ujs) opejenbp3 ojsen ‘zg
000 000 000 opejenbp3 0)sen uod e9jIqNd BPNBQ B 8p UQIEZRICWY 79
00'0 00'0 000 sepejenbpy3 sejeiepay sejouaiajsuell op oBed ep ejueny uoo ojusjweduRYld ‘24
000 000 000 (29 - 24 = Z'tv) sepmonbp3 sojesopad sejouleysur.) op oBed op eyuen 4 UOS ojaN CJUS|WEIDLRULY eV
§0°592'208'29 $0'992'208'28 69°L0Z'SEV'CLE sepejanbp3 sejeiopey sejousiejsuel) 7y
Joavaneoms oTvoRARa jocotisa orazoN00
09°096'589'61 8€°Z86'109°6) LE'r10'980' (1'EV - A = IA) 018N ojuejurejouRUy s Se|qiuods|q S0sINdRY op ouejsendnsaeud eouejeg ‘|A
09°096'985'6} 8€'Z86'109°61 LE'¥10'980'E (LD + 1 8- V'EV + IV = A) se|qiuods|q sosindey ap oueysendnse.d aouejeg ‘A
000 000 000 opousad jo ue sopeajde ugjosods)g 81q7 op sosesbu| ep sejusueway Lo
91°198'988'98 L£'618°0L6'98 00°1£9'L16'9CL (e21190d EPNeQ €| 8p ugoEZRIOWY 4iNj2U| U[S) OpEIeNbRI ON 0jseD 'L
00'0 000 000 opejenbp3 oN 03sED UCD BD||GNd BPNEQ €| 8P UPIIEZRIOWY ‘LD
00°0 000 000 ugjoisods|q aiqy ep sosesBuj ep obed ep ejuengy uoa ojusjwe|duRYld ‘L4
000 000 000 (19~ 14 = 1'ev) ugidsodsiq e1qr7 ep sosesbul ep oBed 8p sjuend uod 0j8N OuBHUEIUBLY LTy
SLL08'ZTLY'9L SLL0B'TLY'9L 1£'8¥9'€00'0¥ 1 ugjojsods|qg siqy op sosasbu| Ly
Joavanvoxs oavonarza Joamrsss ozazoNod
00'0 000 000 (9 - 4 = ¢v) oleN ouejwejaueuyy cy
000 000 000 opejanby3 0jseD UD BI|IGNd BPNSQ | 8P UGIEZIUOWY ‘7D
000 000 000 Opejanbp3 oN ojseD UOD BIJIGNd BPNEQ B 8P UpiaeZROWY *LO
000 000 000 (29 + 19 = ©) Bpnaq &) 8p ugpEzRIOWY "D
000 000 000 sepejenbp3 sejesepe sejousiajsuel) ap obed ep ejuendy uod Ojusjwedueuly ‘Z4
000 000 000 ugjdisodsiqg e.qy] ep sosesbu| op oBed op ejuend uod ojuS|EIOURYY *L]

0ZT0Z 24 OINAr =G 0€ T¥ OENE Hd T T3q
ddT - OI¥VISENdNSEMd HONYTIVH
‘NY¥ILILODOL

820

( sosaq )




e B =R |

\ € ®p € efoH _

_!ono« / Lo [/ 2Tz _ NOIDVHOHEYTE 30 YHDEd

h TY4IDINOR Enubﬁ \

eT'ZYS'sL9L (1e'vro'ego's )
SZT'ZTre'sLo’L (1e'vio'9go's )

.NOONn-ﬂ:oalsggmgg-ﬂggsgsm._s

( soszd )

0Z0Z #d OINNC HQ Ot TY OYEANE =Hd T 'I2Q ;
407 - OI¥VLISANANSHNd HONYIVE :
820 ‘NYTIIILODOL |




